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QUESTION 1

Which two- factor authentication solution would resolve the gaps in the current CGE environment, and meet the
business and security requirements based on the current client types in use?

A. A physical token carried by the end user

B. X509 certificates stored on a Smart Card

C. A complex Active Directory password enforced by Group Policy
D. RADIUS authentication with an Employee ID Number

Correct Answer: A

QUESTION 2

What should a Citrix Architect recommend to ensure that streaming traffic is segmented and highly available?
A. Provisioning Services servers on a shared VLAN.

B. Provisioning Services servers using NetScaler.

C. Provisioning Services servers on dedicated physical switches.

D. Provisioning Services servers on dedicated VLANS.

Correct Answer: A

QUESTION 3

The IT Help Desk Administrator at CCH needs to shadow a user session for application troubleshooting purposes.
Which two permissions need to be set in the environment? (Choose two.)

A. Read-Only Administrator

B. Microsoft Group Policy settings for RDS

C. Microsoft Group Policy settings for Remote Assistance

D. Perform Remote Assistance on a machine role permission

Correct Answer: CD

QUESTION 4
How should a Local VM environment be implemented to allow user-installed application?

A. By adding users to the local administrators group
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B. By using Personal vDisk
C. By giving users access to the Synchronizer console
D. By providing access to the network share that contains the App-V packages

Correct Answer: A

QUESTION 5

Why is creating six NetScaler virtual servers in HA pairs, configured with the subnets of the three sites and binded to
redirection policies, the best design solution?

A. It provides intrasite redundancy in case of appliance failures, while enhancing performance through an active/active
configuration.

B. It provides redundancy in case of site failures, while optimizing external WAN traffic.
C. It protects against WAN failures and connects end users to their home datacenter.
D. It allows for the expected expansion of remote access usage and provides functionality for future needs.

Correct Answer: D
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